
����������	�
�����

����� 	�
��������

����������������
�����������
���

������������������
������ �!��"�
#���
����$�%�&�#�����'�()*+(,-.(/

0
���
��1�������
�������0
���
��������!�����������
2
!��.3,+4��+((5�, "�
#���
������'��������'���6
�!���1���
�
����'�������7�	../(8

�����

�����������9

9�
������	������:�

;���
���������������"�
#���
����6�����!���;��������;�.3(55���
�
�
����;������<
!��-.*4.,33(

�����
�����!��
!���=�����!������
��6
���
���!
<��
���
����
�����$������
��
���



;����,=>�
���
���������!�>��
���;��������

	�����������
����������

1�������
�!��!���������������

&�!����!�>��
��������
��



	������������
��
1�������
�!�=!�������'�������������
��

n ��!�#�����
�����!�������������
���

n '���!������,
��
�����
�����

n ���������������!������
�������
����������������!�
������������������
��

&�!����!�>��
��������
��

n ������������
�����!��

n =����������
�!���������
������?
���
��������������
��������,������!�����������!������

Luis G.C. Rego and Victor S. Batista, J. Am. Chem. Soc. 125, 7989 (2003); 

Victor S. Batista and Paul Brumer, Phys. Rev. Lett. 89, 5889 (2003), ibid. 89, 28089 (2003);

Samuel Flores and Victor S. Batista, J. Phys. Chem. B, 108, 6745 (2003).



����!��������@ "�
����!!

'
A+,�������
�������
��
��
�
���
���!
<������
������������
�������!���!��
!�

.+5������:

4+�B'
A+C�
�
����D�3)
�������!�B�)&),+(+C�
�
��D�.+
.)�����
���&�������D�.)



�
>���0
���
�,�!���
��!������
���
;�������
���������

)0()(ˆ)( Ψ=Ψ tUt

�����������������������������������������������%
���=Ψ
q

qq ttBt )()()( φ

tH
i

etU
ˆ

)(ˆ �
−

=��%����

� +++=+ −

p

pq
qp

i

pq tttEtEtBtB e )()()]()([)()( 2 φτφ
τττ �

�����,'
���;�������
���������



�=
i

iqiq tKtCt )()()( ,φ

)()()()()( tEtCtStCtH =

%�
�����������
���������!#
�������=>������,&
�E�!
������!
<����
���#�!
��?
��
���:

��

%�������
������=>�������&
�E�!&��
!���
���
������
���
������!��������������
�����
��!� 7	AF�8���������

��!
�
���5���4� ����4� 	AF�����'
�5G
�����+� ����+�
	AF�����A�+, 
�����+� ����+� 	AF�����������������.�
	AF�����& ������7
�����*3)����
���
���
��������
�
����!!8��
� 
�������#��!�������
>�
������	AF�����
������

��

'
��,������������!��
!���A��
��!�

)(tKi



'
��,����������;�������
��������������F�

6������
��
�
���!�����!!�
�������
����
��������τ��

)()()()( 2
)(

2 tqetBttU
q

tE
i

q

q

�
−

=Ψ+
τ

τ �

)()(                

)(),(

2
)(

2

ττ

ττ
ττ

τ

++

=+Ψ+−

+

� tqetB

tttU

tE
i

q
q

q
�



'
��,����������;�������
��������������F�

����
���������������?
�!���������������������
!�
�!�
������
���A��������
���������
����
#��������>�����
��

)()()()( 2
))()((

tptqetBtB
p

tEtE
i

pq

qp ττ
ττ

+=+ �
++−

�

%����τ (�

2
))()((

)()(
ττ

τ
++−

≈+
tEtE

i

qq

qp

etBtB �



	��1�
�
��6',��!��
!��������
����
�
!��
���
�	�;H�	�;��
�
!��
������E���

&����������=>������������!��
���1�������
���:�;����%,I�����
���
���!
1��,1���
�������
���:
!��������������
!�����
��������
�!�



����!��������@ �
>���0
���
�,�!���
��!��
�
!��
���

'�����
�
����!!���!���������!������
����
����%
������
��
��
��
����������
�
����
������������

'�����
�
����!!��
�>����
�������
�������
��
B,.(.C��
����
��

�������
�>����� 
��
����B(.(C�
�
����
��

B(.(C

B,.(.C



;�������������!�����
��

A,&����������4/((���,.

7&�����
��������8

�,&���������

4.((���,.

'
A+ �����!������

+)+,-/)���,.

�,���D����������

.(((���,.�.+((���,.



=!������
������
�������������7.�+��������
�!��8

&A�A��

�"�A��"�AG.

��!��������� ����
��
����������������D4�/���

J1$�A.����������D4�/���
=>���7+�5���8��D�4�5���

=>���7�
!E,�������8�D�4�+���



'����������%��������!�
!��������%�#��
���
�������
�!������
������
��������!!��K(�����%�������!������
���
�����
�#
#�!�������
!
������������!���������������
������
����
�
�
�!!�����
!���� �����������!��
!�

��=
SYS

j

ji
j

MOL

i
iMOL StCtCtP

β
βαβ

α
α

,

,
,,

,

*
, )()()(

;�������
��������������F�



1�L���
���������"�A

'
A+���������>�������
��B,.(.C��
����
���%
���;���
��B(.(C��
����
��



1�L���
���������"�A��7���<���!���
����(�M8



�"�A�1�L���
�������F�



�"�A�1�L���
���7���<���!���
��8�����F�

;
�
A
�
7�
8



1�L���
���������"�AG.



1�L���
���������"�AG.��7���<���!���
����(�M8



�"�AG.�1�L���
���7���<���!���
��8�����F�

;
�
A
�
7�
8



�"�A�1�L���
������6
�
���'�������
���7.((�M8

(�M�

.((�M

(�M

.((�M

;
�
A
�
7�
8



�D(���

�D.*���

��������	
	���
���
	������
�����������
��������	
���	�

�
���,�>���������!����������



0 20 40 60 80 100
0.0

0.2

0.4

0.6

0.8

1.0

 

 

S
U

R
V

IV
A

L 
P

R
O

B
A

B
IL

IT
Y

'1�=��7;�8

���������&�!�,'
���!
��������
��

);(sin 22

2

22
/

)( t
jk

jk

jk
j tP ΓΓ

=
�γ 22 )2/()/( ωγ jkjkjk

+=Γ �

ωω RCLC
*5.4=γγ *2.1

LCRC
=



)0(
)0()0(
)()0(

2)()( Ψ
ΨΨ
ΨΨ

−Ψ→Ψ
t

tt

��

��

�D�E9τ

τD�+((�����ω12

	.
	+

ω12 �
����>������

'
A+ ���
����
���� 	�����������!��
!���7	.��	+�N8

'��
�����+,π �
!����:	���%�!�����!��;�������#������� ����5+/.�7+((.8

�
������	���
���� �����
�� �
����

N

+,π �
!���

&A�A



0 20 40 60 80 100
0.0

0.2

0.4

0.6

0.8

1.0

 

 
S

U
R

V
IV

A
L 

P
R

O
B

A
B

IL
IT

Y

TIME  (PS)

�
������	���
���� �����
�� �
�������
�!�

+,π �
!����7+((��������
��8�

.5��� )(���

'
������



0 20 40 60 80 100
0.0

0.2

0.4

0.6

0.8

1.0

 

 
S

U
R

V
IV

A
L 

P
R

O
B

A
B

IL
IT

Y

'1�=��7;�8

�
������	���
���� �����
�� �
����

+,π �
!����7+((��������
��8�
+��� 5+���



��
�

�
��
�

�=
torSemiconducCoupling

CouplingAdsorbates

����������
�����"	���
#��������	���

� ΨΨ=
ξ

ξξ
ξρ ttt p

1���>ξ
��
������������
�
!���
�
�
�!��
�!��������
�
���
��



$����	
���%��	���


001

010

100

�

�

�

R

C

L

HOMO

HOMO

HOMO

Thus these kets describe the state of all three
adsorbates  -- at once, i.e., the state of the hole as 

distributed among all three adsorbates.



Example: In the occupancy representation,
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Compute the subspace density matrix explicitly
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Off-diagonal elements are indicative of decoherence 

( )αα φφ
ααααρ ′−

′′ = iAds eRRt )(,

if nuclear motion randomizes the phases, i.e,                   
becomes a random quantity and the average

The system will no longer be in a coherent superposition 
of adsorbate states.

( )αα φφ ′−

( ) 0→′−
′

αα φφ
αα

ieRR
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Diagonal Elements of the Reduced Density Matrix
T=100 K

Off-Diagonal Elements of the Reduced Density Matrix
T=100 K
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Measure of 
decoherence: 	
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